

Department of Mathematics and Statistics

Math 215: Linear Algebra I

Exam 1: 19 November, 2001

Time: 60 minutes

100

Name: Dany Tawk

ID #: 90017561

Name of Instructor: Dr. MANIQUF

Please write your answer in the space below the question and on the back of the sheet, if you need more space. Use the attached white sheets only for scratch work. Problems 1, 2, and 3 have 30 points each, and problem 4 has 10 points.

1) Solve the following linear system by Gauss-Jordan elimination:

$$x + y + z = 1$$

$$x + y - z = 3$$

$$3x + z = 2$$

$$x - 2y - z = 0$$

30

$$\begin{pmatrix} 1 & 1 & 1 & 1 \\ 1 & 1 & -1 & 3 \\ 3 & 0 & 1 & 2 \\ 1 & -2 & -1 & 0 \end{pmatrix} \xrightarrow{\substack{-r_1 \text{ to } r_2 \\ -r_1 \text{ to } r_3 \\ -r_1 \text{ to } r_4}} \begin{pmatrix} 1 & 1 & 1 & 1 \\ 0 & 0 & -2 & 2 \\ 0 & -3 & -2 & -1 \\ 0 & -3 & -2 & -1 \end{pmatrix} \xrightarrow{-r_3 \text{ to } r_4} \begin{pmatrix} 1 & 1 & 1 & 1 \\ 0 & 0 & -2 & 2 \\ 0 & -3 & -2 & -1 \\ 0 & 0 & 0 & 0 \end{pmatrix}$$

$$\xrightarrow{-r_2 \text{ to } r_3} \begin{pmatrix} 1 & 1 & 1 & 1 \\ 0 & 0 & -2 & 2 \\ 0 & -3 & 0 & -3 \\ 0 & 0 & 0 & 0 \end{pmatrix} \xrightarrow{\substack{-\frac{1}{2}r_2 \\ -\frac{1}{3}r_3}} \begin{pmatrix} 1 & 1 & 1 & 1 \\ 0 & 0 & 1 & -1 \\ 0 & 1 & 0 & 1 \\ 0 & 0 & 0 & 0 \end{pmatrix} \xrightarrow{-r_2 \text{ to } r_1} \begin{pmatrix} 1 & 0 & 1 & 0 \\ 0 & 0 & 1 & -1 \\ 0 & 1 & 0 & 1 \\ 0 & 0 & 0 & 0 \end{pmatrix}$$

$$\xrightarrow{-r_2 \text{ to } r_1} \begin{pmatrix} 1 & 0 & 0 & 1 \\ 0 & 0 & 1 & -1 \\ 0 & 1 & 0 & 1 \\ 0 & 0 & 0 & 0 \end{pmatrix} \xrightarrow{\substack{\text{interchange} \\ r_1 \text{ and } r_2}} \begin{pmatrix} 1 & 0 & 0 & 1 \\ 0 & 1 & 0 & 1 \\ 0 & 0 & 1 & -1 \\ 0 & 0 & 0 & 0 \end{pmatrix}$$

$$\Rightarrow z = -1; y = 1, x = 1$$

$$S = (x, y, z) = (1, 1, -1)$$

2) a) Find the inverse of the matrix  $A = \begin{pmatrix} 1 & 0 & 1 \\ 0 & 1 & 2 \\ 1 & 0 & 2 \end{pmatrix}$ .

b) Find elementary matrices  $E_1, E_2, E_3$  such that  $E_3 E_2 E_1 A = I$ .

c) Write  $A$  as a product of elementary matrices (find these matrices).

a)

$$A \begin{bmatrix} 1 & 0 & 1 \\ 0 & 1 & 2 \\ 1 & 0 & 2 \end{bmatrix} \xrightarrow{-r_1 \text{ to } r_3} \begin{bmatrix} 1 & 0 & 1 \\ 0 & 1 & 2 \\ 0 & 0 & 1 \end{bmatrix} \xrightarrow{-2r_3 \text{ to } r_2} \begin{bmatrix} 1 & 0 & 1 \\ 0 & 1 & 0 \\ 0 & 0 & 1 \end{bmatrix} \xrightarrow{-r_3 \text{ to } r_1} \begin{bmatrix} 1 & 0 & 0 \\ 0 & 1 & 0 \\ 0 & 0 & 1 \end{bmatrix}$$

$$\frac{1}{3} \begin{bmatrix} 1 & 0 & 0 \\ 0 & 1 & 0 \\ 0 & 0 & 1 \end{bmatrix} \xrightarrow{-r_1 \text{ to } r_3} \begin{bmatrix} 1 & 0 & 0 \\ 0 & 1 & 0 \\ -1 & 0 & 1 \end{bmatrix} \xrightarrow{-2r_3 \text{ to } r_2} \begin{bmatrix} 1 & 0 & 0 \\ 2 & 1 & -2 \\ -1 & 0 & 1 \end{bmatrix} \xrightarrow{-r_3 \text{ to } r_1} \begin{bmatrix} 2 & 0 & -1 \\ 2 & 1 & -2 \\ -1 & 0 & 1 \end{bmatrix}$$

b)

$$\begin{bmatrix} 1 & 0 & 0 \\ 0 & 1 & 0 \\ 0 & 0 & 1 \end{bmatrix} \xrightarrow{-r_1 \text{ to } r_3} \begin{bmatrix} 1 & 0 & 0 \\ 0 & 1 & 0 \\ -1 & 0 & 1 \end{bmatrix} = E_1$$

\*  $I \xrightarrow{e_1} E_1 \quad 3^0$   
 $A \xrightarrow{e_1} B$   
 $\Rightarrow E_1 A = B$

$$\begin{bmatrix} 1 & 0 & 0 \\ 0 & 1 & 0 \\ 0 & 0 & 1 \end{bmatrix} \xrightarrow{-2r_3 \text{ to } r_2} \begin{bmatrix} 1 & 0 & 0 \\ 0 & 1 & -2 \\ 0 & 0 & 1 \end{bmatrix} = E_2$$

\*  $I \xrightarrow{e_2} E_2$   
 $E_1 A \xrightarrow{e_2} C$   
 $\Rightarrow E_2 E_1 A = C$

$$\begin{bmatrix} 1 & 0 & 0 \\ 0 & 1 & 0 \\ 0 & 0 & 1 \end{bmatrix} \xrightarrow{-r_3 \text{ to } r_1} \begin{bmatrix} 1 & 0 & -1 \\ 0 & 1 & 0 \\ 0 & 0 & 1 \end{bmatrix} = E_3$$

\*  $I \xrightarrow{e_3} E_3$   
 $E_2 E_1 A \xrightarrow{e_3} I_3$   
 $\Rightarrow E_3 E_2 E_1 A = I$

c)  $E_3 E_2 E_1 A = I \Rightarrow E_3^{-1} E_2^{-1} E_3^{-1} E_3 E_2 E_1 A = E_3^{-1} E_2^{-1} E_3^{-1} I$   
 $\Rightarrow A = E_3^{-1} E_2^{-1} E_3^{-1}$

$$E_3^{-1} \begin{bmatrix} 1 & 0 & 0 \\ 0 & 1 & 0 \\ 0 & 0 & 1 \end{bmatrix} \xrightarrow{r_1 \text{ to } r_3} \begin{bmatrix} 1 & 0 & 0 \\ 0 & 1 & 0 \\ 1 & 0 & 1 \end{bmatrix} = E_3^{-1}$$

$$E_2^{-1} \begin{bmatrix} 1 & 0 & 0 \\ 0 & 1 & 0 \\ 0 & 0 & 1 \end{bmatrix} \xrightarrow{2r_3 \text{ to } r_2} \begin{bmatrix} 1 & 0 & 0 \\ 0 & 1 & 2 \\ 0 & 0 & 1 \end{bmatrix} = E_2^{-1}$$

$$E_1^{-1} \begin{bmatrix} 1 & 0 & 0 \\ 0 & 1 & 0 \\ 0 & 0 & 1 \end{bmatrix} \xrightarrow{r_3 \text{ to } r_1} \begin{bmatrix} 1 & 0 & 1 \\ 0 & 1 & 0 \\ 0 & 0 & 1 \end{bmatrix} = E_1^{-1}$$

$$\begin{bmatrix} 1 & 0 & 0 \\ 0 & 1 & 0 \\ 1 & 0 & 1 \end{bmatrix} \begin{bmatrix} 1 & 0 & 0 \\ 0 & 1 & 2 \\ 0 & 0 & 1 \end{bmatrix} \begin{bmatrix} 1 & 0 & 0 \\ 0 & 1 & 0 \\ 0 & 0 & 1 \end{bmatrix} = A$$



4) Let  $A = \begin{pmatrix} 2 & 1 & 3 \\ -1 & 0 & 1 \end{pmatrix}$  and  $B = \begin{pmatrix} -1 & -1 \\ 5 & 6 \\ 1 & 0 \end{pmatrix}$ . Evaluate

a)  $(6A + 2B^T)^T$       b)  $\text{tr}\left(\frac{1}{3}(AB)^{-1}\right)$

a)  $6A = \begin{pmatrix} 12 & 6 & 18 \\ -6 & 0 & 6 \end{pmatrix}$

$B^T = \begin{pmatrix} -1 & 5 & 1 \\ -1 & 6 & 0 \end{pmatrix} \Rightarrow 2B^T = \begin{pmatrix} -2 & 10 & 2 \\ -2 & 12 & 0 \end{pmatrix}$

$6A + 2B^T = \begin{pmatrix} 12 & 6 & 18 \\ -6 & 0 & 6 \end{pmatrix} + \begin{pmatrix} -2 & 10 & 2 \\ -2 & 12 & 0 \end{pmatrix} = \begin{pmatrix} 10 & 16 & 20 \\ -8 & 12 & 6 \end{pmatrix}$

$(6A + 2B^T)^T = \begin{pmatrix} 10 & -8 \\ 16 & 12 \\ 20 & 6 \end{pmatrix}$

b)  $AB = \begin{pmatrix} 2 & 1 & 3 \\ -1 & 0 & 1 \end{pmatrix} \begin{pmatrix} -1 & -1 \\ 5 & 6 \\ 1 & 0 \end{pmatrix} = \begin{pmatrix} 6 & 4 \\ 2 & 1 \end{pmatrix}$

$2 \times 3$        $3 \times 2$        $2 \times 2$

$AB^{-1} = \frac{1}{6-8} = -\frac{1}{2} \begin{pmatrix} 1 & -4 \\ -2 & 6 \end{pmatrix} = \begin{pmatrix} -1/2 & 2 \\ 1 & -3 \end{pmatrix}$

$\frac{1}{3}(AB)^{-1} = \frac{1}{3} \begin{pmatrix} -1/2 & 2 \\ 1 & -3 \end{pmatrix} = \begin{pmatrix} -1/6 & 2/3 \\ 1/3 & -1 \end{pmatrix}$

$\text{tr}\left(\frac{1}{3}(AB)^{-1}\right) = -\frac{1}{6} - 1 =$

$\boxed{-\frac{7}{6}}$  ✓